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1. Give very slrolt answers | 1x72=.12

q&qEs<ft:rtc

(a) What is the icieal of Logic ?

s6R@F< Etq.f ft?

(b) Is the conclusion of Analogy certain ?

{lrtrl{Tli< fists fiF5s qlr{r

(c) Give an example of Unscientific Incluction.

W<g.tft$ \rtflr+{ qfr €n<q finr

(d) On wl-rich Law is the Quantitative mark of a cause based ?

s.K6f< 'tR.nI"inE EIF"I ft frIT{ s"f<E Affiisr

(e) What was the hypothesis with the help of which the 'Law of
Gravitation' discovered ?

ft eror<< er+q< {qIrE'Tt<jl+{q {p-< fiRr'q qtfrel< q<t ?qfur

(l) Wirat is the meaning of tl-re Greek word 'Ethos' ?

ft+.rq 'Ethos'i qdfrz

@) What, according to Indian Philosophy, is the Supreme and Ultimate
end of human life ?

q-{C{ ffi \n-dIrft ffi< fra+< r<l a+r ay wq.f ftr

0n Write the name of the Inductive Method which enables us to proceed
from cause to effect and effect to cause.

$'F.FI "r<l $dqr$ of(< "rq +xq fi"fr sR< "K qlT{ 'l5fubR i'I:I fr?fi I

(i) Give an example of Secondary Quality.
(ft"t s.t< eE €qE{q fi$ r

(j) Is Ethics a positive science ?

ftefiqrrffi Ren cmr
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0O Who has defined religion in terms of value ?

{qi< frfi "lTl ff< c(g't mrc{ frcs?

(l) Which theory of Truth does Naive Realism support ?

+{EI <l-gfilc( TsrsK csF6r rs<tq qrcF{ $r<r

2. Give an example of Good Analogy. 2

{cl!=fll{li< qh EqR{q frrrt

3. What is 'Hypothesis concerning Agent' ? 2

'+-6I filrs eF[fl'ofs Flc{?

4. Give an example of 'Plurality of causes'' 2

.dW 
$.f<cFilq,< sbt fuC{q frTr r

or/ aPaY

Wlrat do you mean by 'Conjunction of causes' Z 2

'$.Fct l:riiTr'$rcq ft s.elt

5. Explain the moral corrdition of observation'

qtr-c+q< h&T FeB <r"$l 6<l I

or/ a?<l

State fzoo advantages of simple observation'

q-EqF+Fq< Ia${l&sq$-{tt

2

i'
I

I

I

2

6.GiveaconcreteexampleoftheJointMethodofAgreementandDifference.2

fiE q{ft <iffi a$fi< ebl <ts< Bnwq fint

7 . Mention any hoo characteristics of Scientific Realism'

Ms <q<<k-{ ffi rftt<FtBi fratt

2

a
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8. What do you mean by 'moral obligation'?

'ffi <t{rstml{'ficE ft tetr

or/ffi
What is voluntary action ?

&& frn or+ c<t-cqr

g. Give a concrete example of Inverse variation. ' !

RqA-eTfr qqaffiq .44 <rs-< €qrq<q firt'

10. Why is the idealism of Leibnitz called 'Pluralistic Icleaiism'? 2

d1'R<fi-{< ekKlk-s ftn 'aq^e--flfr ekr<Tq' c<lEI q{ ?

or / apay

'Esse Est Percipi' - What is the meaning of this statement ? 2

'qfuq eMs' fi-6'-.fi $ql{K{ qqlftl

11. State frrro characteristics of Primary Quality.

T?r s6F rDt ?<FtB frtt r

12. What is 'Working Hypothesis'?

'4';ffi el$-fl'fr1

or/ffiy
What do you mean by 'Vera Cause'?

'qfuq,frq $'K6i' $rq ft F'tr

L3. Why is habitual action considered as an object of moral judgement ?

wgIqqFE k$$ i{B$ q<{K6K fur-<-q nfr fr{ qql$-<t q-{?

2

2

2
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or / afraY

Wlrat is tl're meaning of intention' in Ethics ? 2

frfuRmu 'q&sfn'< qcf fr ?

14. what is induction ? state tttto differences between deduction and

2+2:4lnductlon.

q.trlT{ s'fs mffi r fiatm \rf$ qt1Td-< flq< fA "ilcfur €-rm{ s-{t t

or / aBa'1

write nny fotff characteristics of Unscientific Induction' 4

*<wtR-+ \ritffir< frrow Frrcr t<fiB fr{il

15. State the advantages of Experiment'

aftq"1-a eRqt q1q 6cs"t $-{tt

or/q@

What, according to Aristotle, are the rjifferent kir-rds of cause ? - Discuss

brieflY. 
- 4

eRE,Ra< {N $F"r< anr< m$r fr frr - u*o qlc-4tD-{t s-{tl

1,6. Write any fottr characteristics of Naive Realism' 4

{<.dt <rs-fiq< frT{lmt nrc/?fiB, fr"n t

17. Explain briefly the nature of ,Monad, as depicted by Leibnitz. 4

qE<fr<K <'fu q-drR 'mls'< aTC ffis <IFrt s<t t

or/a@

WhatistheessenceofBerkeley,sSubjectiveldealism?4
{68< wtgN vK-<14-{ 1a nafi ftt
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18. Write a brief note on non-moral action. 4
q-h&$ ftm e+<s eDtun 6rotfr+r

L9. wl-rat is 'Crucial instance'? Give an example of crucial instance obtainecl
by experiment. 2+2=4

D-<{ 1tE ftr 4ftqc1-aa E-<n 1Etw qbr Unr<q fi$r

20. Write nny four definitions of Religion. 4

* ftFnryr aFFr ciet frrnr

or/ tfu|
Write four characteristics of Religion. 4

{ft r/FA t<FrBl fi"nr

27. What is 'Practical imperfection' of the Method of Agreement ? 4

w*ft aqfi<'<r+{R-s v16r' ft I

orl aF<t

Mention lzrro advantages and lzoo disadvantages of the Method of
Difference. Z+2=4

{Jffi q{rft< fr7 lRrrqr+ fAq1Rrl Gaq +_<tr

22. 'Idealism is best expressed in Hegel's Objective Iclealism., _ Explain
briefly. 4

'6<rFF{ Tgrls sK{q< TlrqTE vK{q-{ tr ersH ffire, - uga <iI?Lt $-{t I

23. Distinguish between religion and morality.
q{q-s i{F+-st< {1q< "ilehr fift n-<r

or/ afta1

'Morality is the source of religion' - Discuss the view.

'hN s{< €sc'-.4E rsr?t qtFrID-{t $:rrl
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24. What is scientific Induction ? Mention the characteristics of scientific

Induction. 2+4=6

r<wtfrs qtrN{ orF c{trq? f{glF-$ qtflq+{ ?<FEi q{c Ucsq q<l t

or/apa|

Define Analogy with an example. Mention its characteristics 3+3:6

qfi &Tsq cs ru$nTw< {iel fifl | qER{ q{nw{ Esci c{q Brm< +< t

25. Write a note on 'Paradox o( Induction' 6

'qtri-fl< frr{i{em'< s'r<s qF 6ro Ii{t t

or/at?{t

What do you mean by Experiment ? Describe its characteristics. 
1+5=6

ffiqq 1fr6q fr *:P "f+F"f< ?<fiEl r1q qf(EID;rl {-{t I

26. What are the stages o{ Hypothesis ? - Explain with examples ' 6

er${< s< Cs$ ft ft r Eqf5q cq <It$ {<l I

or/ rF{t

What are the conditions of a legitimate or valid hypothesis ? Explain ony

froo of them. 2+4=6

t<< a-c*< u6 ag fr ftz ?<< a+-q< &Trta 1it u6 <n"m o< t

27 . Define the Method of Agreement with concrete examples' State fit'o

advantages of this method ' 2+2+2=6

<ts< EqR<q< ?qce- qrft flm< rqBtfi$reE g$rfi< fA {RqlErF"ls-{lt

orl qft<t

Define the Method of Residues with examples. state fztro disadvantages of

this method. 2+2+2=6

EtrE<q qq qRrffi g{ffi-{ cigt firI I q? q"ilfi< fA q{R{t Elsq €tl

-x-
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